HMIEBIFRA O RIS S = 1

(A 3TH)

N
/

FE o, K = 1 75 i1 | S
1 AERIHT H 4 A it 708-2 il 1,278 10 10
2 |AERIMT A K 1835 i 3,398 10 10
3 |AERIET T K 1836 i 2,251 10 10
4 | AR 1 5 /5 2531-1 i 1,484 10 10
5 |AFFIETE AV IAAIH 856 vl 2,914 10 10
6 | AERIEE 17K 791 i 1,185 10 10
7T |AERIEE 17 I 792 i 1,282 10 10
8 |AFFIEE 17K 824-1 i 429 10 10
9 | AERIEE IV 1042 il 2,000 10 10
10 | AR FAE 5 711t 1348 il 852 5 5
11 [ AZFIHT v 167-1 i 521 5 5
12 |AFF|H] £ BeLgm > 1501 K 3,014 10 10
13 [AFFIH] & BeLgm 1502 il 1,262 10 10




